INSTRUCTION
MANUAL

Panasonic

Narrow-beam Retroreflective Type Fiber Head
FR-KZ500

MJEC-FRKZ50H No0.0103-23V

Thank you very much for purchasing Panasonic products.
Please read this Instruction Manual carefully and thor-
oughly for the correct and optimum use of this product.
Kindly keep this manual in a convenient place for quick
reference.

e For the connecting method of the fiber attachment,
refer to the Instruction Manual attached to the fiber at-
tachment.

e Also read “Instruction Manual of General-purpose
Fiber Head” carefully and thoroughly for the correct
and optimum use.

El MOUNTING

e Mount this product with the accessory fiber mounting
bracket or M3 set screws (cup point).

e Take care that, since the aperture angle of this product
is very narrow, the beam may not be received depend-
ing upon the mounting condition. Mount so that the
center of the fiber head and the reflector are aligned.
Take care of beam alignment or tilt.

<Head-ON type / FR-KZ50H>

ﬁmm &7 1431

e
1

m

Parallel
- 7{ I
Parallel
* 2.6mm
s B S U B
-\ 5.3mm
2. '

<Side-ON type / FR-KZ50E>
4.75mm

i

B

Parallel
- —f 1
I
Y 5.3mm
e

For using fiber mounting bracket (optional)

e \When mounting the fiber mounting bracket on a mount-
ing base, use M3 screws (purchase separately) and
the tightening torque should be 0.3N-m or less.

e \When mounting the side-ON type sensor to the fiber

mounting bracket, take care not to block the sensing

part.

The fiber mounting bracket can be mounted without

M3 set screws. When M3 set screws are also used,

take care that the tightening torque should be 0.05N-m

or less. An excessive tightening torque may distort the
fiber mounting bracket.

M3 screw
(Purchase separately.)
4.5mm or less

When M3 set screws (cup point) (purchase separately)
are used for mounting

e Fix the fiber head with M3 set screws within the mount-
able area shown in the diagram below. The tightening
torque should be 0.1N-m or less.

(Mountable range)

For mounting reflector

e Use M3 pan-head screws or M4 pan-head screws (pur-
chase separately) and the tightening torque should be
the following.

M3 pan head screw: 0.5N-m or less
M4 pan head screw: 0.8N'm or less

M4 pan head screw

(Purchase separately.) @ i

H CAUTION

e When detecting transparent objects etc., the range of
0 to 20mm from the detecting surface may unstable for
detection.

Panasonic Industry Co., Ltd.
1006, Oaza Kadoma, Kadoma-shi, Osaka 571-8506, Japan
https://industry.panasonic.com/

[Please visit our website for inquiries and about our sales network. |

Panasonic Industry Co., Ltd. 2024
April, 2024

PRINTED IN JAPAN

Panasonic m#H#AE

PAEIS—REEIT 7/ Y F
FR-KZ500

ZOEWE, NP Y=y 7l EBE O EFWeE &,
HONEHTZNET,

ORI Z OB IAE L L <BHAIce b, EL
FH 7R ET T P&,

W, Z OB EI RN LT E N,

e T ANEUH T UTADEZFHEXIZONTIE.
T7ANEUY T U TICRHBORIKSGHAEEZ SR
&L,

o BRAZ 741~y FORRGHAZI 4 L BHmAIc
HY., ELLRBAEAEZETIHERILESL,

1 B CRGES

o AMGIX, fHEDT 7 A4 NEfTE&EEIIM3IEDA
U (AER) 2 LT (T TLEE 0,

o ABLLIE, BARANIEWICHLS oo TWVET DT,
BREREEIC L D AL WEERH Y 97,
FEIDE 7 7 A3~y REH I T —oHLNn
AIEIICERE LT IEEW, S X Loffixic
EELTEEN,

<~ FON% A F/FR-KZ50H>

ﬁmm @7??

<#4 FON% 1 J/FR-KZ50E>

Aﬁmm @77 14mm
‘@%* —+ 19mm f}
FT @J
- ? I
o Y +
I 75.3mm
f 1

27 A NBAEER (F8) TRY 1556

o 77 AN & B2 WA ZREICIY 11T 2581,
M3AL Gl ZHELSZESv) 26 L, #iofh
FAZ7i3, 0.3N-mBATFE LTS ZS0,

L ]
&
N
o
Z
NS
N
N,
S
N
)
N
N
S
™
N
\&
N
N
S
%
o
B
pu
R I

B0 2548, BIEEICOH20 X 2 I2HD £
TLIEEN,

T AN RZ, M3IER U EFHLRWTY
FANEHETHENTEET,

M3 UaGHFHLTIHEMBICRD5A1E. fFoft
bV 7 Z20.06N-mLL F & LTLZEN,

WK MV TREOAT D & T 7 A NEA A R
BT HBZENRHY £T

L]
A

4.5mmplt

M3iEéha L (< FHA5E) (Bl CARE £ ELY) THIY fF 1+
358

o FROBY (HFHHEAICMIEDR L CEE LT 28
Vo ZOBEROFEDAT L7130 IN-mELF & LTS
EE,

M3iEdhta L (< [FAH5E)
(Rl CABCESL. )

4mm
(R Y £ I‘rﬁlﬁ‘éi’ﬁ\lfl)
(B Y {1+ AT BE#EER)

RHFIS—EMYMITHEHE

o M3~ U £/ IM4Z2~RL Bl ZHE< SV &
R L. fDFT M7 IITFRROEY & LTIRE W,
M372~<# L : 0.5N-mEL T
M472~4L : 0.8N-mBL

M37% <4 L
(Bl TRABCEEL. )

MaZz~Aa L /'@ @ )

(Rl CABCESL. )

HixEs®|

o B EomMEERILT 25513, Wit~ 5
0~20mm O FEPHIT . B HIBS AL E IS/ D ATREME A
HYET,

NFIZv DT A9 A U—tAatt
T571-8506 ARMFIEMAFIIE1006E
https://industry.panasonic.com/
<FAT/\A A=AEREO >
TEL : 0120-394-205
SR . FHOIR~ 1285 138~ 176

(EB#RE. FRFH. SHREEHZR<)
Panasonic Industry Co., Ltd. 2024

2024FARFT PRINTED IN JAPAN



Panasonic

ERRBEH
PRl SR AT
FR-KZ500]

AR A S Panasonicr” i o
TP, e M LA U A IR B . A B 0 PR 7=
AT ot FE 8 P 5 O B T T 15 2 b DA R

o REFSCAMARAITT IEIBES ARSI A ARMIHER
R,
o IBEEANAEFYIE ( BRAYFLERIRBEE ) MUSES

A IERER.

1 S

o Tl FHIRRAE AB LT 4ot S AR e VIS ] G R 2 (135 A 7 402

o AFERNIYFF AR E BN, BOT RE S R M AN
[l ROk A
ARG T ERTR R SRR B i X 5F
RIS T A ) P B Rt

< THimteiNEY/ FR-KZ50H >

o
=7

19mm -

,7,7,7(7,7
7
777L7 2.6mn1
] ¥
-1 5.3mm
7 t
<{UEH B/ FR-KZ50E >
4.75mm f
J ®7T 14mm
~B+?ﬁ>— 19mm-
3 G}—L
,7? _
mm  FT
S '
R 5.3mm
L -

(B R LS B0 (M) TRy

o HECLF LR SRR e 5 1 L I IMBIR 22 (1 5
TR . A S 5 HI7E0.8N - mLL T .

o 2 TG BN I AG IR B 2F b | R RN SR BRI

o LFAk AN RFEM S IR [ 1 . IRRER A O6ET o
SR [ ek VS [ MR 2 | DU K [ R A AR
0.05N-mPI .
LR B UWNE N ﬂﬁﬁ%ﬁ()i&”&i’%ﬂ%ﬂ%

< SF
4.5mmElE t% (.0{}

M3iRsz
(BRTHES. )

{EFAMIEIEIR L (i) (5517 ) St

o A TF PR B2 PR P M T 2 B T . RO
LA 0. IN - mIL .

)

M3EIFEIR 22 (Vi
(BBITHES.

4mm
(I LEECE)

(AIZEEE)
TR GRS

o fli M3 #E IR 22 s MAL LR 22 (i ATHES) . IR
A . .
M3FELi222 : 0.5N-mPL T
M4Fki222 0 0.8N-mLL T

M35 kiRee
(BRTES. )

M4fzLizes /'g g o
(BRTES.)

H E=m
o KT i U1 145 R U 0 AT R N LB R 3 i
Omm~20mmif{EFN . I RERE.

shisrg: Ao MRS
ik - BAKRAFTTETAFIR1006%
https://industry.panasonic.com/

O A TEEE(FPE)BRAT
FE(L#)BERRSREX BHESST 8SH_EEE
[EXHEAREBENE, ESHALTM, |
Panasonic Industry Co., Ltd. 2024

2024548 %17 BAER)




